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GRS HDCP NET

11=8 & 5 97 17 80
2| B BIIETF 2 08 18 80
3|/IME{EFI B 5 102 21 81
4| BRIERER 4 99 17 82
5|i#H 15 6 95 12 83
6| K& Rl 6 103 20 83
71 5% B 3 94 9 85
8Ll #k 4 103 18 85
9;EME FREA 2 90 4 86
105H FE 4 100 14 86
1158 5 5 118 32 86
12 EEHEFER 6 91 4 87
13|pkH fESB 2 94 7 87
14[HE+ BE 6 96 9 87
15|7KHET [5— 2 08 11 87
16[lBE& & 3 102 15 87
17ZH# = 5 101 13 88
18|t B 1 105 15 90
19| M 3Rsh 2 107 17 90
20#EH FEH 5 104 12 92
21| HEX 1 106 13 93
22|f8@ 3 6 107 14 93
23|HE R 3 110 16 94
24|01 FKE 5 110 16 94
25\{Ek &— 1 113 18 95
26| 5K EiE 6 114 17 97
27 RICH 6 113 15 98
28| XE =R 5 123 25 98
29| F U AR 1 115 16 99
30|FAH XE 4 119 20 99
R RE 3 119 18 101
32|FH =W/\ 2 116 14 102
33| AFEAER 5 127 25 102
34|hJIl BhsE 3 121 18 103
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